TREMAORUCHEY £ERFAEAR

(Eri29% 3A31H IR#A)

[ OBR% (B ] =8 | % [te&] [ oBxs | &&x] = | = [t#ew ] [ oBxa [ L5 =& [ &= | e |
AHMRE /N 10,858 5417 5441 5,201 EFNE =SS 21,900 11,041 10,859 9,472 WX /NEt 12,384 6,438 5,946 5,297
1TH 760 365 395 394 & 2 BT 1 X 1,094 530 564 467 BEERT1X 3,288 1,662 1,626 1,400
2TH 876 438 438 452 B ZHBr2X 791 395 396, 318 BEEMT2X 1,936 966 970 787
3TH 807 381 426 368 & 2 BT 3X 1,443 673 770 588 BEERTIX 1,179 569 610 422
4TH 289 150 139 156 &2 T4 X 1,196 566 630][ 508 BEERTEN 1,856 972 884 818
5TH 305 165 140 161 & ZET5 X 385 186 199 159 32 SERET 622 299 323 226
78 A HT 1,645 847 798 773 B ZBT6 X 537 265 272|| 226 = AHT 706 354 352 283
KPS ET 407 198 209 207 L /NHRET 959 471 488 390 T/IHRET—X 1,345 701 644 556
AHBT 676 327 349 310 EEARIX 1,005 508 497 392 T/NHEI =X 1,158 759 399 693
W EEET 501 250 251 208 HEHE2X 651 334 317 294 J\B SFHT 294 156 138 112
JEET1 X 677 330 347 305 = R [EHT 895 435 460 351
JERT2X 811 423 388 425 R 1X 1,270 632 638 544 EEETN 26,441 13,634 12,807 11,602
JERT3X 1,227 611 616 643 ARAT2[X 705 308 397 288 BT A AR AT 1,812 953 859 907
S H] 179 90 89 87 EREEFEZ I 2,096 1,298 798 1,044 BEf A ST 1,203 622 581 558
J\IBEg 410 203 207 189 RRMEAES 2,538 1,332 1,206 1,082 BARN1X 293 133 160 134
J\ &L 307 142 165 148 HEFFHET 1,711 825 886 1,010 BABE2X 618 320 298 257
J\IEFE 981 497 484 375 P Ll 1,052 526 526 396 BARMSX 561 297 264 252
_ K I53TET 1,840 881 959l 688 BABE4X 395 207 188 170
&R/ 26,320  13,623] 12,697  12,046] |_[fEXRFH 1732 876 856]] 727 HEREFXR 2,395 1,246 1,149 1,081
ERIRET 3,751 1,929 1,822 1,602 i BET# 1,148 599 549 469
£z FH HT 1,579 817 762 803 (R Z BB X /T 13,484 6,737 6,747 5,253 1 B TR 543 273 270 225
FFET 1,784 948 836 914 KEHRT1X 1,341 665 676 583 HEHAILE 1,827 924 903 797
T 2,241 1,114 1,127 1,112 | AEHT2X 531 259 272 185 L 746 383 363 326
X ST 1,219 662 557 600 RFAT 274 127 147 125 EEEE S 787 414 373 354
REEH 3,190 1,636 1,554 1,249 A HATR 1,259 625 634 501 A P BT 863 490 373 402
HAIFTET 3,683 1,860 1,823 1,595 #E 4 HAT T 540 246 294 257 FE AT 2102 1,087 1,015 971
A7 EHT 3,229 1,658 1,571 1,379 Bl FHRT 2,952 1,510 1,442 1,260 R ERT 822 409 413 284
A7 SR EIR 1,862 970 892 905 B HET 1,227 607 620 489 ;% 5 T 329 166 163 113
FEHET 1,677 890 787 850 ELTH] 1,088 555 533 462 FaEF A T 231 111 120 74
/N AHT 2,105 1,139 966 1,037 HrEFET 1,108 562 546, 417 THE1R 338 176 162 123
_ =KiE 397 185 212 180 FHE2K 155 73 82 75
REFHL X /T 26,555 13,601 12,954] 11,293 355, 7 BT 2,767 1,396 1,371 794 H AR AT 1,116 585 531 460
12 RET 803 402 401 297 HHE 1537 820 717 702
'=RET 1,465 701 764 575 BV 7,644 3,763 3,881 2,927 BHE1X 406 195 211 179
4 R ET 1,822 906 916 747 AR IFET 2,687 1,320 1,367 1,003 AHE2X 499 263 236 232
£ R EH 825 404 421 327 L Em 140 74 66 54 SR HET 1,066 538 528 465
= AR ET 1,972 986 986 845 75 K [ AT 694 348 346 266 EHT 4,649 2,350 2,299 1,992
= AR AT 944 470 474 401 EiEHT 568 280 288 213 _
= AAE ET 1,441 700 741 582 L& FHT 168 82 86 70 EHHMMX/NET 12,359 6,292 6,067 5,066
S AkILET 1,008 502 506, 428 | K HT 191 93 98 66 HER1X 1,446 722 724 531
=R FEET 686 353 333 281 |58 5 HT 258 125 133 98 |2 FHT2X 1,814 922 892 726
EIN] 1,531 750 781 643 EEYE 182 85 97|l 76 [THIZET 1 X 1,160 616 544 471
Eiadil 917 464 453 377 T 480 241 239 174 5T 2 X 1,444 769 675 678
E i) || BT 3,651 1,938 1,713 1,582 AEHT 654 309 345 285 = ZAET 1,080 547 533 444
TEMHET 2,775 1,462 1,313 1,234 FHHET 985 510 475 360 EHAT 1,079 560 519 462
BT 2,423 1,253 1,170 1,098 X ELET 637 296 341 262 HSRAT 1,066 538 528 418
SR ET 2,093 1,190 903 953 HXHET 528 268 260 224
RS- 1] 2,199 1,120 1,079 923 X RIEHET 358 175 183 134
SRAT1X 488 247 241 197
SURAT2[X 455 214 241 179
SLLEBH 635 306 329 266
R 806 408 398 336




TREAAORVHES £EREAEAR (ERi29% 3A31H 1)

[ OBR% (B ] =8 | % [te&] [ oBxs | &&x] = | = [t#ew ] [ oBxa [ L5 =& [ &= | e |
[ERIERU/NET 8,788 4,452 2,336 3557] [RGHEXDET 9,896 2987 2,909 4064] [BEERBEX/IaT 9,549 4,799 4,750 3,737
EEMUES1TH) 359 196 163 156 ENGA:] 1,808 882 926 724 Ean 404 199 205 145
ESM(ES2TH) 130 61 69 64 R {eh T 1,778 946 832 793 #iE1X 711 362 349 260
EER(ES3TH) 139 68 71 64 RBE T EHS 1,418 721 697 591 252X 1,318 651 667 483
EEM(ES4TH) 121 66 55 69 R T BT 1,074 538 536 408 EE 1,180 613 567 471
ESR (ES EHR) 254 117 137 104 pNGEC L 1,049 518 531 463 & 484 224 260 220
EESN(ZEES) 287 153 134 132 FITHILESE 1,300 675 625 490 EZA 223 121 102 81
VS TSINGUS:D) 373 188 185 172 | THRE L 804 379 425 313 EZA 336 160 176 150
BT A2 (BA) 844 420 424 313 TRIE 665 328 337 282 =B 998 469 529 393
VSET=INEZ=ZND) 194 93 101 74 amE 844 440 404 331
BESAUED (BiS) 104 50 54 48 SRR /N 9,964 5,015 4,949 3,737 L2 f8 1,325 701 624 547
{ERI SIRLIIE D GHRY)) 285 145 140 93 THH 396 205 191 156 BE 1,004 499 505 360
R EEYIEO GEO) 552 271 281 206 HH 787 395 392 285 HE 555 267 288 215
B/NERES B @IVNE) 281 140 141 102 FHH 899 424 475 355 | [F& 167 93 74 81
EBEE(ZVINE) 221 115 106 78 FHEE 762 392 370 295
EEmi (Ras) 266 128 138 98 UNEFEE 818 421 397l 313 W15 79 b HB X /[N BT 12,503 6,317 6,186 4,787
EEmEE (RIS) 144 69 75 56 EXE( 728 385 343 285 XELE 452 236 216 181
b (EFEZEH) 586 298 288 233 G E =R 806 401 405 295 NGRS 677 339 338 275
AR 1,201 640 561 522 e FHE 1,128 553 575 430 AE2X 652 311 341 257
EEFER (BREAH) 132 64 68 71 &HET 792 389 403 299 AXE3IX 849 425 424 325
AEEREF (AEE) 596 295 301 228 GEEZSE =] 668 350 318]| 240 KEAR 701 359 342 262
AETEF (REF) 439 229 210] 165 mHE 596 296 300)| 243 XESX 1,171 562 609 471
HbECRFHET) 114 59 55 49 e 1,584 804 780 541 RE6X 1,659 821 838 623
FIAGEENR ENREE) 164 79 85 76 KE7X 3,118 1,581 1,537 1,181
B/NER Y (R ) 559 287 272 246 FRITER X /BT 9,991 5,170 4,821 3,983 ~TE 721 388 333 283
LEETHIT) 443 221 222 138 NS 1,733 864 869 658 AAZRIX 590 310 280 215
LiIH 1,571 764 807 616 AAR2X 536 292 244 204
BRI 5,150 2,567 2,583 1,898 TH% 679 340 339 250 AARIX 700 361 339 266
HEMEE (R HEE) 388 193 195 170 &R 562 301 261 220 B7IR 677 332 345 244
#HEHELE(SH) 929 471 458 314 LHH 1,355 694 661 480
1 B H A (FTHT) 218 103 115 76 i iEFK 752 370 382 268
it B H & (KF) 298 149 149 103 PN 467 229 238 165
HERSE/N) 587 300 287 195 EHEN 835 473 362 398
HEBAT (T 238 119 119 89 EN] 2037 1,135 902 928
HEBHET (FHA) 224 117 107 80
HEBHT (FIR) 133 66 67 60
FEJIET (R 861 448 413 336
AEJI BT CREIHESE) 559 242 317 220
&)1 H IR (IR 3T H) 248 119 129 95
51| 3R (IR AT 134 69 65 47 _ _ _
)11 H 3R (F)1D) 210 109 101 72 e 2 5 = I
HEHAFUNEH) 123 62 61 41 AHMET 223786] 113.853] 109,933 93,920




